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1. Determine the domain of

f(x) =

√
x + 1

x2 − x
.

2.

f(x) =

{
x2 x ≥ 0
−x x < 0

a. Graph the function f(x).
b. Let g(x) = f(f(x)). Compute g(2), g(0), g(−2).



3. Suppose the annual revenue, in millions of dollars, of a company is R(t) = t2 + 2t + 1
where t is measured in years and t = 0 corresponds to the year 2000. The annual cost, in
millions of dollars, for the company is C(t) = 2t + 1.
a. Find the formula for the profit function P (t).
b. What is the average profit over the first four years (2000-2004)?


